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Measurement Fit IO"“’a‘;-O'“léor"“""s

Al (m,)  0.02758 = 0.00035 0.02767
m,[GeV] 91.1875+0.0021 91.1874
r,[GeV]  24952:0.0023  2.4959
op. [Nb] 415400037  41.478
R, 20.767 £ 0.025  20.743
A2 0.01714 = 0.00095 0.01643
A(P) 0.1465 = 0.0032  0.1480
R, 0.21629 = 0.00066 0.21581
R, 0.1721 +0.0030  0.1722
A° 0.0992 + 0.0016  0.1037

o 0.0707 + 0.0035  0.0742
A, 0.923 + 0.020 0.935
A, 0.670 = 0.027 0.668
A(SLD) 0.1513 £0.0021  0.1480
sin“0."(Q,) 0.2324 =0.0012  0.2314
my [GeV] 80.404+0.030  80.376
r,[GeV]  2.115:0.058 2.092
m, [GeV] 172.5+ 2.3 172.9




